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7.3 Trigonometric Substitution

Expression Substitution Identity
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| think doing this cookbook makes it hard. I'd rather just see you draw a triangle, suggested
by the radical expression, and use it to figure out what to substitute for x. If you work it and don't get x =

sine, secant or tangent expression, switch the lengths on the sides of the leg.

| always go with x as the opposite side, unless it's that 3rd case, where the x*2 - a*2 inside the radical
makes x the length of the hypotenuse.

How do you keep the domains straight? Know the graphs of sine, cosine and tangent. Know how to
chop 'em off (restrict their domains) so they're 1-to-1, and so inverses make sense. The rest is knowing
your Pythagorean identities from trig.
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1-3 Evaluate the integral using the indicated trigonometric substitu-
tion. Sketch and label the associated right triangle.
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4-30 Evaluate the integral.
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38. Find the volume of the solid obtained by rotating about the
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